12/9/24,11:01 AM
1. Find the domain of f.

12
10-x

f(x)=

O A {x|x#12)
O B. {x|x#+12)
(0 C. {x|x#10}
) D. {x|x# £10}

Print Questions

2. Find the domain of f.

x-8

f(x) =
x2 +7x

O A, {x|x#8)
() B. {X|x#0,x# -7}

(0 C. {X|x#T7}
O D. {x|x#-7)

3. Identify any vertical asymptotes in the graph.

(A, x=5,x=-5
25“” ) B. None
20 () C. x=-6,x=4
15 () D. x=6,x=-4
I 5 X
o B(r 2. | 2 46 8 1
Ty
4. Identify any horizontal asymptotes in the graph.
A y=1/§
A
1E y\ (1B. y=5
}“ \ (1 C. None
) ) D. y=4

v >

A
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Print Questions

5. Find any vertical asymptotes.
- x-1
X)=
x2 -16
A, x=1
O B. x=-4
(1 C. x=4
(1 D. x=4,x=-4
6. Find the horizontal asymptote of the given function.
hx) 2%
X)=
2
2x -3
A y=1
O B. y: .\/§
") C. None
() D. y=3
7. Match f(x) with its graph without using a calculator.
; 4
™= 52
O A O B. O C. O D.
Ay Ay Ay Ay
5 6 51 BT
| |
/ \ I |
= X A\ 1 X / X / X
) o < > < p=s > < >
/ \ [
J J J J l
\ \ \ \
8. Match f(x) with its graph without using a calculator.
- x+3
X)=
2
X +4
O A. O B. O c. O D.
Ay Ay Ay Ay
2 2 ? 3
"
4 —— “ X‘ 4 /\\\—_ X‘ 4 \ X‘ 4 X‘
3 C . /’é 3 C 2 -10 - \
|
|
2 2 3 511
\ \ \ \
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9. Sketch the graph of the rational function.

x-3
f(x) =
) x+4
A ) B. c oD
Ay Ay Ay Ay
10. 0. 10. 10.
1 ito 10 10
/ \
)\
= “"_‘-_-_EX X X __=_-X
< v — S o e R < =T < >
-1V I - I -1V I - I
!
| \
4 114 1 1
v v v v

xX—2
x+7_5
1
i) A. 5
37
) B. - 2
33
ic. - 2
37
() D. 5

11. Solve the rational equation.

1 20

1+;=—2

X

A, 5.4
O B. -54
Oc. 5 -4
11
) D. 52

12. Solve the rational equation.

5-x 3 7

+—=—

X 4 X
29

A, 20
B 8
e —8
b —4
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13. Solve the polynomial inequality.
(x+10)(x+9)(x+2)<0
A, (=10, —9)U (-2, )
() B. (-o00, —-9)
()C. (-2, )
(J)D. (—o00, —10)U (-9, -2)
14. Solve the polynomial inequality.
(2x+7)(x-7)(3x-4)<0
B ( 7 4 .
A \ ©, —5Ul3
B ( 7 4 .
) B. \ © -~ lUl3:
(7 4 .
HC.k 23|V (T ™)
7 4 .
HD._ 5 3|V ™)
15. Solve the rational inequality.
-5
-7x-6 >0
( 6 J
A -7,
L7
1 B. (0,00)
( 6]
JcC -0, Z
L 7
~ 7}
(D, | —o, - =
. 6
16. Solve the rational inequality.

(") A. No solution

) B. (9, )

(1C. (-00,9)

() D. (- o0, )
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17. Evaluate the expression by hand.

1/3

8

VA, 48
1 B. 16
i1C. 6
() D. 2

18. Evaluate the expression by hand.

) A. 390,625
() B. 1,953,125
() C. 78,125
() D. 3,125

19. Evaluate the expression by hand.

1 -1/2 1 -3/2
— + | —
9 25

- 128
(A - 375
) B. 128
26
e - ES

b 8

20. Use positive rational exponents to rewrite the expression.
5/X6

i) A. 5x8
) B. x5/6

() C. x6/5

() D. 6x°
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21.

Use radical notation to rewrite.

-1/2,3/5
a b

Ja
A %/b—5

Ja
:i/b—s
Ja
Ja

[:] D. 51/b—3

Print Questions

22.

Solve the equation.

AT =3

23.

Solve the equation.

1/2x+5— x-2=3

24.

Solve the equation.
3 3
Y3x—1="4/4x+6
A7

B 7
(2 B. - 3

e 5
b, 7
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25. yse f(x) = % and g(x) =2 - x to evaluate (f— g)(3).

A -9
1B. 0
i1C. 4
() D. 10

26. Find (fg)(x).

f(x) = 6x + 5; g(x) = 2x°

LA 42,2+ 10x
O B. 12x+10

e 2x2+6x+5

LD 428+ 105

27. Find (f+g)(x).

f(x)= 4/5x +5; g(x) = 4/5x -5
A, Xm

) B. y10x
(1 C. 5x

(2 D. \/Bx+5 +45x-5

28. Find (fg)(x).

f(x)= 4/5x +5; g(x) = 4/25x -9
O A. (/5x+5)(y/25x-9)

() B. (5x+5)(5x-3)
() €. (5x+5)(25x - 9)

(O D. (5x-3)(4/5x+5)

29. Find g(11) when g(x) = - 6x-10.

1 A. 56

1 B. -56
i) cC. -67
1D, -76

30- Find (fo g)(7) when f(x) = — 8x - 9 and g(x) = — 4x> — 8x + 5.

1 A. 785

1 B. 623

() C. 1,967
) D. -16,375
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31. 2
Find (g o f)(3) when f(x)=2x+5 and g(x) = - ;

32. Given f(x)= -3x+7 and g(x)=2x+ 3, find (g o f)(x).

A, Bx+17

) B. -6x+16
) C. -6x-11
) D. -6x+17

33. Find the functions f and g so that F(x) = (f o g)(x).

F(x)=|9x + 3|

f(x)=Ix|; g(x)=9x +3

f(x)= = 1Ix|; g(x)=9x +3
C. f(x)=x;g(x)=9x+3

f(x)=1-xl; g(x)=9x-3

34. Find the functions f and g so that F(x) = (f o g)(x).
F(x)=y82x° +4

A, f(x)=4/82x+4; g(X) =X
O B. f)=182"; g(x)= 4

() C. f(x)= 4/x; g(x)=82x% +4

2

() D. (x)=82x° +4; g(x) = /X
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1. C. {x| x# 10}

Print Questions

2.B. {x|x#0,x# -7}

3.A.x=5x=-5

4.D.y=4

5.D.x=4,x=-4

6. A y=1

o

v >

A

N

Yy

v >

A

N

N

Ay

~—]

v >

A

i

11.B. -5,4

12.C. -8

13.D.(-o0, —10)U (-9, -2)
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a2

Print Questions

15.

16.

17.

18.

. 3,125

19.

. 128

20.

21.

22.

23.

.2,38

24.

25.

.10

26.

123 +10%°

27.

.1/5X+5 +1/5x—5

28.

. (//5x+5)(4/25x - 9)

20.

. —76

30.

C.

1,967

31.

11

https://tdx.acs.pearson.com/api/v1/print/highered

10/11



12/9/24,11:01 AM Print Questions

32.D. -6x+17

33. A. f(x)=|x|; g(x)=9x + 3

34. G f(x) = y/x; 9(x) = 82X + 4
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